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920
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140,100
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4,000
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500
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5,600

Off &t 24

145,600
18,000
18,000
7,000
5,000
27,600

63,000

7,000
26,550
26,550

6,800

2,750
17,000

50,620
11,520
7,720
600
160
3,960
3,000
3,800
1,800
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4,000
4,000
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34,600
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A EAA
M AHYU= AALE
Sl 2.0 MYY KlYReAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
shely X2 XF MY NA(BAEX) 156,288 155,656 632
= 133,044
= 23,244
307 glz2tol & 156,288 155,656 632
2 133,044
< 23,244
10 A3l =X 2 X 156,288 155,656 632
OTHotetdlel MAHl X 3,188
= 1,594
= 1,594
OStHI2t0l 2 2P (200 2) 43,300
= 21,650
< 21,650
OBtHlQl TahA ToHK MBI
150,000 x61H 128 109,800
= 109,800
St = Xt MAHl X2 (HE22x) 222,845 30,468 192,377
< 66,853
Al 155,992
402 BI2HX=201 M 222,845 30,468 192,377
< 66,853
Al 155,992
01 RIZEAI=2E X 222,845 30,468 192,377
OBHEERE =X AF 210,510
JIEH=E EHHI 30,000
< 9,000
Al 21,000
sEXg2 A= 180,510
= 54,153
Al 126,357
OstdlZ&E S ML ALY 12,335
< 3,700
Al 8,635
stuld &2t 15,894 14,503 1,391
307 21201 A 15,894 14,503 1,391
05 BIZHRIE 3 15,894 14,503 1,391
Ogtdl THOtetXt olsd 2 Xzl 9,216
Ostdl@aE & 0lsd =z X =l
60,000& 58X 3,480
Oglz=0 e 2% 25 3,198
HE22ZAl 2712 X (EX) 120 570 A 450
= 60
< 60
307 21201 A 120 270 A 150
= 60
< 60




A EAA
M AHYU= AALE
Sl 2.0 MYY KlYReAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZt2IE = 120 270 A 150
OHZZAJIZ 2d4 XN& 10,000 128 120
= 60
< 60
flol= & e (2X) 2,422 2,190 232
J| 1,211
< 242
Al 969
307 21201 A 2,422 2,190 232
J| 1,211
< 242
Al 969
01 222l 2,422 2,190 232
OO0IOIE &IEhAlE 2 4,750 «400H 1,900
J| 950
< 190
Al 760
Od8 A ¢ 870 x600H 522
J| 261
= 52
Al 209
HEYHAEI WEHEBI(EX) 3,492 3,298 194
= 1,746
Al 1,746
307 21201 A 3,492 2,298 1,194
= 1,746
Al 1,746
05 BIZHRIE 3 3,492 2,298 1,194
Ozggael d2NLE w=sH| 3,492
= 1,746
Al 1,746
ME2E 0Z2A NA(2X) 2,640 3,540 900
J| 1,320
= 1,320
307 glz2tol & 2,640 3,540 A 900
J| 1,320
< 1,320
05 RIZHRIEF 3 2,640 3,540 A 900
OM=Hz OISZAIMA 290 XA
220,000& 128 2,640
J| 1,320
< 1,320
Zopzo LB (BX) 40,271 13,654 26,617
J| 20,136
< 1,217
Al 18,918




A EAA
Bu: mgols ADAS
Sl 2.0 MYY KlYReAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 124 dl 31,194 0 31,194
J| 15,597
Al 15,597
04 12t Z2XREES 31,194 0 31,194
OZsm2RA A2 31,194
J| 15,597
Al 15,597
201 Let24dy] 2,400 5,000 A 2,600
J| 1,200
= 360
Al 840
01 At 22/l 2,400 5,000 A 2,600
Ozdael 22835 7€ 4,800& 500 2,400
J| 1,200
< 360
Al 840
202 oddl 960 2,418 N1,458
J| 480
Al 480
01 = LH o4 1l 960 2,418 N1,458
OA&HY EETZAL o4 10,000 x84 =12 960
J| 480
Al 480
307 21201 A 5,717 6,236 A519
J| 2,859
< 857
Al 2,001
01 222l 5,717 6,236 A519
Ogod =T Hal 110, 1002 »49H 5,395
J| 2,698
< 809
Al 1,888
OoZsas & I ¢ 161,000 »2H 322
J| 161
< 48
Al 113
reEggd Zaae(2x) 7,667 9,200 A 1,533
J| 3,834
Al 3,833
201 Let2d]| 7,667 9,200 A 1,533
J| 3,834
Al 3,833
01 At 2teltl 7,667 9,200 A 1,533
OJtsgggyd Zaae aeg=s ¢
191,675% 4004 & 7,667
J| 3,834
Al 3,833
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2N

Ha: [OtEe SAFAS SIS YRAYBIAY
Sol: WRAY oMY SEREED)
= _ — d =
S - FE - EA(SH) - NRAY - BES e HlnE2
OdLlgaRNT A BALY X2
80,000& »242] 1,920
206 M= Hl 3,000 6,000 A 3,000
01 =4l 3,000 6,000 A 3,000
ONEY, A0 Z2HE 858 7L
250,000& x 123l 3,000
CE2 e olgae(Ex) 3,000 0 3,000
J| 1,500
Al 1,500
307 glz2tol & 3,000 0 3,000
J| 1,500
Al 1,500
05 B2t E = 3,000 0 3,000
Odolgazz ofgzel 23S (FMTP) 3,000
J| 1,500
Al 1,500
AALS Q™ ZALZAIMA RE(EX) 47,614 47,613 1
J| 23,807
< 4,760
Al 19,047
202 044l 1,500 1,500 0
J| 750
< 150
Al 600
01 = LH o4 1l 1,500 1,500 0
OXGAS H2ZZAL AHS =& HI 1,500
Jl| 750
= 150
Al 600
307 gl2tol & 46,114 46,113 1
J| 23,057
< 4,610
Al 18,447
05 RIZt & = 46,114 46,113 1
OXGALSl A2 Z AL 46,114
J| 23,057
< 4,610
Al 18,447
ColAA 2 ALY (XIOH) 12,000 245,227 N 233,227
307 glz2+ol & 12,000 228,083 A 216,083
01 22724l 12,000 12,000 0
OXOH=Ql A2 (LM L ASES 2
) 15,0003 #4002 *23| 12,000
ColHY AN (XIO) (BEx) 14,080 0 14,080
& 10,560




2N
X ZH -
L= B

el

BAA
Aotzel s=Egads ?E
gAY 22l

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
< 3,520
201 et 10,680 0 10,680
& 8,010
< 2,670
01 At 22l 8l 10,680 0 10,680
OXagHE 2Z(EEE) S
1,495,000 44! 5,980
& 4,485
< 1,495
OXIHH &2 AtY 2 ZA==E
80,000& »152] 1,200
& 900
< 300
OXHHEEwa T2 29 S
7,000% *25% x202] 3,500
& 2,625
< 875
202 044l 2,400 0 2,400
& 1,800
< 600
01 = LH o4 1l 2,400 0 2,400
OXIOHO & 22l At =& O ] 2,400
&2 1,800
< 600
301 gt d= 1,000 0 1,000
=2 750
< 250
09 SALAHIEA S 1,000 0 1,000
OXlojog2e(z20d)29 242
5,000& «25% «83] 1,000
=2 750
< 250
THOH &AL 22l Ak 21,348 33,206 A 11,858
206 = Hl 3,000 10,500 A7,500
01 =8l 3,000 10,500 A7,500
OMotgat Z20d2d Mg 7
250,000& x123] 3,000
307 21201 A 18,348 15,840 2,508
01 =L =4l 18,348 15,840 2,508
OMIt et dH 2 26,400 »695H 18,348
THOt &R 2elAt (B X) 17,366 0 17,366
J| 8,683
< 1,736
Al 6,947
201 £B-2dH| 2,716 0 2,716
J| 1,358




A EAA
M Tpot2el sgets 22el At
SRl WERAY e A CERED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
< 271
Al 1,087
01 At 2t 2,716 2,716
OM It '
1,756 +1,0008 1,756
J| 878
< 175
Al 703
OMItg e 80,000& x123l 960
J| 480
< 96
Al 384
202 Odl 1,000 1,000
J| 500
< 100
Al 400
01 =S LHA YI 1,000 1,000
OMOt 20,0003 »2H x25 1,000
J| 500
< 100
Al 400
206 M= Hl 11,130 11,130
| 5,565
< 1,113
Al 4,452
01 M2 4l 11,130 11,130
OM It 35,000& »318H 11,130
J| 5,565
= 1,113
Al 4,452
301 gt d= 2,520 2,520
J| 1,260
< 252
Al 1,008
09 SAAHIE 2,520 2,520
Ot & =
,000& 30 *123] 2,520
J| 1,260
< 252
Al 1,008
L EAE2HALY 10,000 1,500
201 £B-2d| 2,500 0
02 =524l 2,500 0
OF2EHAY & 2,500
307 glz2+ol & 7,500 1,500
01 2L F =4l 7,500 1,500




2N
X ZH -
L= B

el

5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
OFZ2ANTE 25 2a(ald S 118)
2,500,000 *33] 7,500
SEREHAIY 2 (BX) 14,800 6,786 8,014
= 2,960
Al 11,840
201 LBt ]| 800 2,786 A 1,986
= 160
Al 640
01 AP 22| H| 800 2,786 A 1,986
O HU AL AISE AHA 2l 1,000€ 8008 800
o= 160
Al 640
202 044l 4,000 4,000 0
& 800
Al 3,200
01 2L Y| 4,000 4,000 0
ogtsHd el Ay =& 0] 4,000
& 800
Al 3,200
307 2iz2to| & 10,000 0 10,000
o= 2,000
Al 8,000
01 sd =t 10,000 0 10,000
OgeABBAANY N 7Y
50,000& x4 = +50 10,000
= 2,000
Al 8,000
Lol 220122H £=H| JRH(EX) 6,510 13,950 AT ,440
== 1,953
Al 4,557
307 2Iz2to| A 6,510 13,950 AT ,440
= 1,953
Al 4,557
01 e R=Hl 6,510 13,950 NT,440
OLQl 2SATAE &4l N
930,000 x7H 6,510
o=t 1,953
Al 4,557
ZOHXE AR (2E) 148,522 0 148,522
Jl 74,261
& 22,278
Al 51,983
307 2Iz2t0| & 148,522 0 148,522
Jl 74,261
o= 22,278
Al 51,983
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M 2AL
el
2t

M Aot s=EEgdsS f8 g 2elAY
Sl WRAHY alAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZt2IE = 148,522 0 148,522
OXHXE 2eld XN (2LALESHIE M) 148,522
J| 74,261
< 22,278
Al 51,983
XS ALSl BARAAY 697,544 707,711 10,167
J| 95,000
= 177,518
< 152,262
Al 272,764
KNAAE HAUBAHHE 2H(EX) 160,000 152,600 7,400
J| 80,000
Al 80,000
101 @124l 108,368 95,000 13,368
J| 54,184
Al 54,184
04 JI2ZtHZ22HEE =+ 108,368 95,000 13,368
ORMALZHME Q=2 108,368
J| 54,184
Al 54,184
201 24l 31,044 38,552 AT,508
J| 15,522
Al 15,522
01 At 22l 28,044 35,552 AT,508
OBMBAANY &2 (B)RARE BH+Y
70,0003 «3H 128 2,520
J| 1,260
Al 1,260
OFANEBAAI (F2ATHEZZ2OHEIY )
2,351,000& x4 9,404
J| 4,702
Al 4,702
OBAUBAAY ZAL=Y 80,0003 12F 128 11,520
J| 5,760
Al 5,760
OFUNUEHAY EEE 4AHML 2 23R 7Y
6003 «22/*3,000% 3,600
J| 1,800
Al 1,800
OFAMALSIEEH 2235 72 L =4 1,000
J| 500
Al 500
02 =224l 3,000 3,000 0
OFUNAZSAEH 29 250,000& 128 3,000
J| 1,500
Al 1,500
202 (44l 2,000 2,000 0
J| 1,000




2N
X ZH -
L= B

el

= A

_— T =

Aoreel sHgd
KIS Atel AEAHA

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

Al

1,000

01

W
o
> e
[=

O
0z

HL
ry
>
1o
I
e
=
[

Jl
Al

2,000
2,000

1,000
1,000

2,000

301

e
T
HT
0z
oy

Jl
Al

11,040

5,520
5,520

10,000

1,040

09

>

O o2
0%

> oW
=
Y H
> 0
R oy

1

=
6

,000& «23E 82| «10E

Jl
Al

11,040

11,040

5,520
5,520

10,000

1,040

307 21201 &

o
Al

6,048

3,024
3,024

6,048

o1z +=H

OZAUEEX XIgHl XY 12,6003 ~40F 128

J|
Al

6,048
6,048

3,024
3,024

6,048

405 Tt

=z

ﬂ
Jn
=

Il
Al

1,500

750
750

1,000

500

01 &t

rx
Na
1]
0
]
an
o

O
I
om
S
to
N
OBt

500,000& 35

Il

1,500

1,500

750
750

1,000

500

ABISHAE(EX)

= H A

462,874
177,518
138,862
146,494

505, 111

NA42,237

307 212t0l &

= H AL

462,874
177,518
138,862
146,494

505,111

N42,237

O

Jal
>
it
riy
=
>
fon
Ju
4
>
x
0
02

g XI&

OBMIET MIAZHAL BAR SE+Y

1,590,000 x12H

= H AL

=

462,874

443,794

177,518
133,138
133,138

19,080

5,724
13,356

505, 111

N42,237

XSAAS THAGEASE (EX)

= M

44,670

13,400
31,270

50,000

A 5,330
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A EAA
M Aot s=EEgdsS f8 g 2elAY
S XFAS HAEAHAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 124 dl 27,605 25,020 2,585
< 8,281
Al 19,324
04 12t Z2XREES 27,605 25,020 2,585
OX&0LAE 12 27,605
= 8,281
Al 19,324
201 Let24dy] 13,065 20,980 AT,915
< 3,919
Al 9,146
01 At 22/l 13,065 17,980 A4,915
OXaUHTAY ZAtrE 80,000 «5H «12& 4,800
< 1,440
Al 3,360
OXtaoe & FAaABSIZ2IH2Y
85,900& x503l 4,295
< 1,288
Al 3,007
ORANZAY DSNE 7Y 794 +5,000% 3,970
= 1,191
Al 2,779
301 et A Z 2,000 2,000 0
< 600
Al 1,400
09 EALEHIE &S 2,000 2,000 0
OXAUBAMEFE Ba3 58828 +«20H«173] 2,000
< 600
Al 1,400
405 XHakE SH 2,000 2,000 0
< 600
Al 1,400
01 et EZFH S 2,000 2,000 0
OXt&M A FEE ZHP2E(RES 18) 2,000
< 600
Al 1,400
aog ¥ FUHAUSTAL(EX) 30,000 0 30,000
J| 15,000
Al 15,000
101 14l 26,776 0 26,776
J| 13,388
Al 13,388
4 JI2ZtHZ22 a2+ 26,776 0 26,776
HAAYBEANY oY 26,776
J| 13,388
Al 13,388
201 ¢er24| 3,224 0 3,224

_23_




A EAA
M Aot s=EEgdsS f8 g 2elAY
Sl XIAE HAE ALY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 1,612
Al 1,612
01 At 22l 3,224 0 3,224
OBMHLSTAY AA L EEE 22 3,224
J| 1,612
Al 1,612
A2 HAS 142,433 153,134 A 10,701
J| 67,300
< 22,540
Al 52,593
X0t & BRI AME(EX) 7,833 7,834 A
= 2,350
Al 5,483
201 Let24dH] 2,000 2,500 A 500
< 600
Al 1,400
01 At 22l 1,500 2,000 A 500
o722 =g I ¢ 1,500
< 450
Al 1,050
02 2324l 500 500 0
O7&d=22d4 Fdl=4Hl 500
< 150
Al 350
307 21201 A 5,833 5,334 499
< 1,750
Al 4,083
01 2224l 5,833 5,334 499
OXIOoF & MR ML (AHES 105) 5,833
< 1,750
Al 4,083
Lo BEFAE(EX) 134,600 145,300 A 10,700
J| 67,300
< 20,190
Al 47,110
307 glz2+ol & 134,600 145,300 A 10,700
J| 67,300
< 20,190
Al 47,110
01 22272l 134,600 145,300 A 10,700
OxrzHZe(dd2ox 2 222X)
1,071,666& x22+x60H 128,600
J| 64,300
< 19,290
Al 45,010
OF2ZHZe(LUYXNEE MAEF22lH])
200,000& 30 6,000

_24_




A EAA
M NOIEel SAFAS S YRAYBIAY
Sl PUBAAY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 3,000
< 900
Al 2,100
MEsa HEES S8 A2 S 22,730 15,000 7,730
J| 3,875
< 775
Al 18,080
AZME AN SFL Y XA 22,730 15,000 7,730
J| 3,875
< 775
Al 18,080
AUYMENMN SEMHA 4,000 4,000 0
201 €24 2,500 2,500 0
02 =224l 2,500 2,500 0
OHLEETAHE &I 2,500
203 YR =2t 1,500 1,500 0
03 A FXH S =AY 1,500 1,500 0
OAULSTAY AHHRFAH| 1,500
2L IHB2UE2Y 10,980 11,000 A 20
307 21201 A 10,980 11,000 A20
01 =L =4l 10,980 11,000 A 20
OHC-T Z2&Hl A& 90,000& »122H 10,980
SHNECHEQA XAA (BEX) 7,750 0 7,750
J| 3,875
< 775
Al 3,100
101 14 Hl 7,750 0 7,750
J| 3,875
< 775
Al 3,100
04 JIZHHZ22XEES 7,750 0 7,750
OS3HNEEE2A XF ALY 7,750,000 «1H 7,750
J| 3,875
< 775
Al 3,100
AT I A2 2e| At 1,640,235 1,584,951 55,284
= 55,455
J| 256,985
< 83,902
Al 1,243,893
SUEHAAMS 11,600 15,100 A 3,500
AR A2 ze| 11,600 15,100 A 3,500
201 Let24E] 1,600 5,100 A 3,500

_25_




2N
COXHAICH e A

el

X ZH
S =

= A

_— T =

SUEAALY

2t 1|
o

2l Ak e

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 1,600 5,100 A 3,500
Odu=s 44" 2 W=Hl 300,000 *x2H 600
oHEg 2R+R SF5J| ARE F2¢
10,0002 1004 1,000
307 212t0| & 10,000 10,000 0]
01 s =l 10,000 10,000 0
OJ|& 0t & Ak 25,000& *400H 10,000
SN 3 A 942 447 871,071 71,376
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01 AISIE & A 452 780,000 710,000 70,000
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J| 28,132
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Oelz243 Al=dl X& 14,850
J| 7,425
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OHMA%E=E A=t X< 41,414
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o 8,283
Al 12,424
2 HLESAY 597,316 624,079 N26,763
J| 175,658
& 49,464
Al 372,194
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201 et 9| 2,000 1,000 1,000
01 AL 2t 2] H| 2,000 1,000 1,000
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307 QI2t0| ™ 244 000 601,525 A 357,525
o1 s R=tl 244 000 601,525 A 357,525
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AR A2l 15,302 19,478 N4, 176
J| 2,651
& 1,060
Al 11,591
AAE Ols AHAd 22 10,000 19,478 N9,478
307 QI2t0| ™ 10,000 19,478 N9, 478
o1 s R=d| 10,000 18,800 A 8,800
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== 1,060
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01 s = 4,642 0 4,642
OFAE M2 O =dl X 4,642
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=} 928
Al 1,393
05 QIZtREZ 660 0 660
Oz 2ANEAHLE 7Y 660
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& 132
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Al 1,600
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Al 5,200
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< 60
Al 240
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Al 200
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